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Section 1 - English

Identify the sentence error in the following sentence;
Salim never liked bathing the dog, feeding the cats,
or to ride the horse.

{A) bathing the

(B) feeding the

{C} to ride

{0} no error

Identify the sentence error in the following sentence:
Her and her friend like to stay in their hotel room and
drink milk whenever they take a trip.

{A) Her

(B} her friend

() drink milk

(D) they take a trip
They narrowly avoided the bus.
[A) missing

(B} to miss

{C) missed

{0} having miss

After months of studying hard, Mina
cleared LIPSC Examinalions.

(A) initially

{B) consequently

() finally

(D} therefore

Identify the sentence error in the following sentence:

are exciled about the new teacher.

(A) Of all the students
{B) nobady
(C) are excited

{0} the new teacher
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6.

Fatima knows German, _.we have
selected her to head our Bank in Germany.,
{A) therefore
{B) moreover
{C} provided
(O} otherwise
I'm afraid | dontrecollect _ an exam
today!
{A) to have
(B} to has
{C) to had
(D) having
my family, | will also invite my friend aon
my Birthday.
(A) Aside
{B) Despite
(G} In spite
{0} Besides
Choose the correct alternative for the underlined
ward:
He suggested that, we should be bound by a code of
conduct, ismLit?
{A)isntit
{B} aren't we
{C) shouldn't we

{0} none of the above
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10,

TE

12.
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Fill in the blank with words given in brackets, using
the verbs in Past Perfect Tense.
Jammu before you went there in 20137

{you ! ever [ to visit)

(#) Did you ever visited Jammu before you went
there in 20137

(B) Had you ever visited Jammu before you went
there in 20137

(C} Have you ever visited Jammu before you went
there in 20137

{0} Could you ever visited Jammu before you went
there in 20137

Choose the carrect alternative for the underlined

word:

She depends greatly on her brother,

i#) depend greatly

(B) has been depending

{C) should greatly depend

{0} Mo correction

ldentify the type of clause for the underlined area of

the sentence,

From the border of Punjab the great road continued

on to Delhi, to Varanasi, the place we once called

Benaras, to end in Calcutta, favoring the banks of

Ganges for much of this distance.

{A) Adjective clause

{B) Independent clause

(C} Adverb clause

(D) Moun clause

13.

14.

16.

Fill in the blank with words given in brackets, using
the verbs in Past Perfect Tense.
the office before they drove away?
{they [ to ring)
{A) Had they rung the office before they drove
away?
(B} They rang the office before they drove away?
(C) Had they ring the office before they drove away?
(D) They had ring the office before they drove away?
Our dog is of very good breed as is the
offspring of two high breed dogs and inherited
features.
[A) this [ its
{B) she / theirs
{C} It f their
(D) he / their
Fill in the blank with words given in brackets, using
the verbs in Past Perfect Tense,
the onions before he hurried to the
window? (Saif / to cut)
(&) Did Saif cut the anions before he hurried to the
window?
{B) Have Saif cut the onions before he hurried to the
window?
{C) Had Saif cut the onions before he hurried to the
window?
(D) Could Saif cut the onions before he hurried lo
the window?
The teacher could not remember the name of the
student
prize of Rs, 20,000,
(A} who
(B) whose
(T whom
(D) her

science project received a cash
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17,

18.

19,

20.

21.

|dentify the type of clause for the underlined area of L

the sentence.

If | say that we had a house and two servants in
Dhaka, what you might imagine will not match
reality.

(&) Adjective clause

(B) Independent clause

(C) Noun clause

(D) Adverb clause

The solicitor wrote a letter to Rahim and

in which he asked us if we could settle the matter

between

(A} mefus 23,

(B} 1/us

(C) mine [ ours

(D) mine { we

She considered _homes.

(A} to change

(B} changing

{C) having change

{1} to be changing

Choose the correct reported speech version of the
statement.

“What are they doing?" she asked,

24,

{A) She wanted to know what they are doing.

{B) She wanted to know what they were doing.

{C) She wanis to know what they were doing.

(D} She is wanting to know what they were daing.
Identify the type of clause for the underlined area of
the sentence.

The great rivers of India have served as the arteries

of civilization, with the Ganges the acrta of Northern
India.

(A} Adverb clause

{B) Noun clause

{C) Adjective clause

(D} Independent clause
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Join the three sentences using appropriate

conjunction(s).

Jai saw a dog on the road. He decided to adopt the

dog. Jai brought the deg home,

{A) Jai saw a dog on the road and decided to adoplt
the dog, so he brought the dog home.

{B) Jai saw a dog on the road so decided to adopt
the dog, and he brought the dog home.

(C) Jai saw a dog on the road whom he decided to
adopt, so he brought the dog home.

(D) Jai saw a dog on the road whom he decided to
adopt the dog, and so he brought the dog home.

Choose the correct reported speech version of the

statement.

Vikram said, “l want to n;isit my friends this

weekend.”

{A) Vikram said he wanted to visit his friends that
weekend.

(B) Vikram said he wants to visit his friends that
weekend.

{C) Vikram said he wanted to visit his friends this
weekend.

{D} Vikram said he wanted to visit her friends that
weekend.

Choose the correct reported speech version of the

statement.

The teacher asked, "Who speaks English?"

(&) The teacher wants to know who spoke English,

(B) The teacher wanted to know who speak English.

(C) The teacher wanted to know who spoke English.

(D) The teacher wants to know who speak English.
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it

26.

27.

Choose the type of Pronoun that is underlined in the 28.

sentence :

He tripped over and fell down.
tA) Persanal Pronoun

B} Relative Pronoun

(C) Reflexive Pronoun

(D) Indefinite Pronaun 29.

Choose the correct alternative for the underlined
word:

Hardly sha had finished her lunch than the phone
rang.

{A) while

(B} when a0,

(C) then

(D however

Direction far questions 27-30:

Complete the conversation by choosing the most
appropriate given options:
Abraham: | heard that Rahim (9) apen a
sweet shop, though he is little uncertain,

Margret: He {10} nof plunge info another
business proposition; he (11) _ forgetthe
colossal failure of his last business venture,
Abraham: You (12}

on that count, as he will not be investing any money.

_ not have any worry

Select the correct option for the blank numbered
(10} in the passage above:

(&) need

(B} dare

{C) will

(D] shall

Select the correct option for the blank numbered
(12} in the passage above:

(A) will

(B} shall

(C) need

() dare

Select the correct option for the blank numberad
{9) in the passage above:

(A} may

(B} can

() could

(D) will

Select the correct aption for the blank numbered
(11} in the passage above!

(A) needn't

(B} won't

{C) can't

(D) shouldn't
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3

32

34,

Section 2 - Physics

Which of the following characteristics is NOT
suitable for fuse wire?

(A) Thin and shorl

(B) Low melting point

(C) High resistance

(D) Thick and short

LPG has strong smell due to the presence of
{A) Eythl mercaptan

{B) Ethyl isocyanide

{C) Methyl amine

(D) Ethanal

A current carrying wire is placed along east-west in
a magnetic field directed northwards. If the current in
the wire is directed eastward, what will be the
direction of force on the wire?

(A) Due west

(B} Due south

(C) Vertically upwards

(D Vertically downward

The figure below shows the poles of an
glectromagnetic field. The magnetic field is most
non-homogenous at the point

R

WNi=T O= 5

p

(A) P
(B) O
(S ]
(DR

35.

36.

37.

38,

39.

Three 3 ohm resistors are connected to form a
triangle. What is the resistance between any two of
the corners?

(A) 3/4 ohms

(B} 3 chms

(C) 2 ohms

(D) 4/3 ohms

One type of energy which has NOT been contralled
5o far:

{A) geothermal energy

{B) nuclear fission energy

() ocean thermal energy

(D) nuclear fusion energy

Which of the following is NOT ultimately derived
from the sun's energy?

[A) Wind energy

(B) Geothermal energy

(C) Biomass energy

(D) Ocean thermal energy

If the length of the conductor is doubled, then its
resistivity becomeas

(A) double

(B} haived

{C) remains same

{D) three times

The fossil fuel whose known reserve in the earth are
expected to last for the minimum period is:

[A) uranium

(B} coal

(C) petroleum

(D) natural gas

F-‘age_ﬁ of 24
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40,

41.

42,

43.

44,

Two electric bulbs have resistances in the ratio 1:2,
If they are joined in series, the energy consumed in
them are in the ratio

(A) 1:2

(B) 2:1

(C) 4:1

(D) 1:1

The phenomena responsible for the light of sun to
stay beyond sunset is

&) scattering

(B refraction

) re.ﬂection

(O dispersion

The lateral displacement is directly proportional to:
(M) angle of refraction

{B) thickness of slab

{C) angle of incidence

{0} none of these

Twa resistances Ry and Rz give combined
resistance of 4.5 ohms when in series and 1 ohm
when in parallel. The resistances are

{A) 3 ohms and 6 ochms

{B} 3 ohms and 9 ohms

(C) 1.5 ohms and 3 ohms

{0y 1.5 ohms and 0.5 ohims

The minimum speed of wind necessary for the
satisfactory warking of a wind generator to produce
electricity is about;

(A) 10 km/h

(B 15 kmih

(C) 20 kmih

(O} 25 kmith

Page 7 of 24

45.

44.

47,

48.

The force exerted on a current-carrying wire placed
in a magnetic fizld is zero when the angle between
the wire and the direction of magnetic field is;

{A) 457

(B} 60°

(C) 90°

(D) 180°

Beamn of white light splits info its constituent colours
by a process known as

{A) Dispersion

{B) Reflection

{C) Refraction

(D} Canvergence

The lamps in a household circuit are connected in
parallel because

{A) this way they require less current

(B} if one lamp gets fused the cther remains glowing
{C) in this way the power is saved

() it helps in short circuiting

A hurman eye can focus on objects at different
distances by adjusting the focal length of the eye
lens. This is due to:

{A) accommodation

(B} near sightedness

(C) long sightedness

(D) persistence of vision
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49,

S0,

a1.

52

An electron beam enters a magnetic field at right 53.

angles to it as shown in the figure. Thea direction of

force acting on the electron beam will be:

Magnetic Field

¥

(&) to the left

(B} to the right

(C) into the page

(D) out of the page

A wire has resistance of 21 ochms. It is melted down

and from the same volume of metal a new wire is

55,

made, that is three times longer than the original
one. What is the resistance of new wire?

{A) 63 ohms

{B) 189 ohms

{C} 7 ohms

(D} 21 ohms

56.

An electric motor is a device which transforms:
{A) mechanical energy to electrical energy

{B) heat energy to electrical energy

{C} electrical energy to heat energy

{0} electrical energy to mechanical energy

57.

A lens of power +3.5 D is placed in contact with the
lens of power -2.5 D. The combination will behave
like:

{A) A convergent lens of focal length 100 cm

{B) A divergent lens of focal length 100 cm

(C) A convergent lens of focal length 200 cm

(D) A divergent lens of focal length 200 cm

Efectron Beam 54.

Heat produced in a current carrying wire in 5 5 is
&0 J. The same current is passed through another
wire of half the resistance. The heat produced in 5 s
will be

(A) 60 J

(B) 30.J

()15

(Dy120.

Three equal resistances when combined in series
are equivalant to 80 W, Their equivalent resistance
when combined in parallel will be

(A) 270 W

(B) 30 W

{C)3.810 W

(D) 10 W

A wire of resistance & ohm is bent in the form of
circle. The resistance across its diameter will ba
{A) 8 ohm

{(B) 4 chm

{C} 2 ohm

(D) 16 ohm

A stick appears broken in water due fo:

(A) Total depth of water body

(B) Refraction of light

(C) Reflection of light

(D) None of these

A proton and an electron enter a region of space
with equal spead ::n which & magnetic field is
suddenly switched on. The force experienced by
them are

(A} equal and cpposite

(B} different in magnitude but in the same direction
{C) in the ratio of 18:37

(D} same in magnitude and direction
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68.

59,

60,

B1.

B2.

63.

A convex mirror of focal length 10 cm is placed in
water. The refractive index of water is 4/3. What will
be the focal length of the mirror in water?

{A) 4043 cm

(B) 30/4 cm

{C) 10 cm

(D) 20 cm

A spherical air bubble in water behaves as

(A} Convex lens

(B} Concave lens

(C) Concave mirror

(D) Plane mirror

If a long hollow copper pipe carries a current, the
praduced magnetic field will be

(A} inside the pipe anly

(B} outside the pipe only

() both inside and outside the pipe

(D) neither inside nor outside the pipe

In vacuum, speed of light depends upon

(A) wavelength

(B} frequency

() colar

(D) none of the above

The unit of expressing electric power is

(A) joule

(B) joule per sec

(C) coulomb per sec

(D kilowatt hour

What should be the refractive index of completely
transparent medium for it to be invisible in vacuum?
[A) Less than 1

(B) 1

[C) Greater than 1

(O The medium cannot be invisible whatever be the

value of refractive index

64,

65.

66,

&67.

68,

A concave mirror forms the real image of an object
which is magnified 4 times. The object is moved

3 om away, the magnification of the image is 3
times. What is the focal length of the mirror?

(A) 3cm

{B) 4 cm

(CYy12cm

{0} 36 cm

The resistivity of certain material is 0.6 ohm m. The
material is most likely to be:

{A) insulator

{B) conductor

(C) semi-conductor

{0 super canductor

The index of refraction of diamond is 2.0, velocity of
Iighl in diamaond in cm per second is approximately:
(A} 8 x 100

(B) 3.0 x 1010

(C)2 x 100

(D} 1.5 x 100

What is the magnification when the object is placed
at 2f from the pole of a convesx mimror?

{A) -1/3

(B) -2/3

(C)-1

(D) -3/2

A long sighted man is not able to see objects nearer
to his eye than 50 cm. To enable him to read a book,
25 cm away, he should use spectaclé lenses with
the lnlléwing power.

(A -6D

(B)-4D

(cyob

Dy+4D

-Is-age 9 of 24



150306 A

B2  One of the following does NOT contribute to acid 4.

rain. That is:

(A) sulphur dioxide
(B) carbon dioxide

() nitrogen monoxide

(D) carbon monaxide

70.  If we double the radius of a current carrying coil 75

keeping the current unchanged, what happens to the
magnetic field at the centra?

(A) Becomes four times

iB) Is doubled

(C) Remains unchanged

(D) 15 halved il

1. Acurrent is flowing towards north along a power
line. The direction of the magnetic field above it is
towards
(A} narth
B} east
(C) south
(D) west

T2, Athin convex lens of focal length 10 crm and a thin T

concave lens of focal length 20 cm are in contact.
The combination acts as:

{A) concave lens of focal length 10.0 cm

{B) concave lens of focal length 20.0 cm

(C) convex lens of focal length 10.0 cm

{D} convex lens of focal length 20.0 cm 78.

T73.  |f the potential difference between the ends of the
fixed resistor is halved, the electric power will
become
(&) four times
(B cne-fourth
{C) halved
(D) eight times

A long copper pipe carries a current. Then the

magnetic field is

(A) zera inside and finite cutside

(B) finite inside and zero outside

() finite both inside and outside

(D) zero both inside and outside

In order to find an efficient solar cooker, the cover of

cooker box should be made of:

(A} ircn sheet

(B} shining aluminum sheeat

() transparent glass sheet

(D) butter paper sheet

For a fixed supply valtage, the current flowing

through a conductor will decrease when

iA) cross-sectional area of the conductor is
increased

(B} length of the conductor is reduced

{C) length of the conductor is increased

(D) cross-sectional area is increased and length is
decreased

Which phenomenan is responsible for the twinkling

of stars?

(A} Atmosphere Reflection

(B} Atmosphere Refraction

{C) Total Internal Reflection

(D} Maone of these

A convex lens of focal length 16 cm forms a virtual

of double the size of the object. VWhat is the distance

of the object fram the lens?

(A) B cm

(B 16 cm

(C) 24 cm 4

(D 32 em

Page 1-[fl Of:?-’i
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Ailzh

a0,

A minimum resistance is to be prepared from a
copper wire, its length and diameter should be
(A) | and d

(B) 2 and 2d

() 2land d

(D) 2l and d/2

The radiation present in sunlight which makes a
solar cooker work are:

(A} garmma rays

{B) visible light

(C) infrared rays

(D) ultraviolet rays

Page 11 of 24
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81.

82,

83.

85.

Section 3 -Chemistry

Which among the following elements form
amphoteric oxide?

(A) Boron

(B) Aluminium

(C) Carbon

(D) Germanium

The indicators which turn red in acid solution are:
{A) litmus and methyl arange

(B) turmeric and litmus

(C) phenolphthalein and methyl orange

(D) phenolphthalein and litmus

The pair of element which exhibits the property of
calenation is

{A) nitrogen and phosphorous

(B) carbon and silicon

{C) carbon and germanium

{0} carban and nitrogen

A solid element X has four electrons in the
outermost shell of its atom. An allotrope ¥ of this
element is used as a dry lubricant and in making
pencil leads. The allotrope Y is

(&) Diamond

(B) Graphite

{C) Buckminsterfullerene

(D) Cumene

An organic compound X having molecular formulae
CaHs0 is used as nail polish remover. The organic
compound X 1s

{A) Propanal

(B) Acetone

{C) Methyl ethyl ether

(D)} Acetaldehyde

86,

87.

88.

89.

Q0.

81,

The metal which is extracted from calamine is

(&) Ca

(B) Zn

(C) Al

(D) Fe

The organic compounds which are isomeric with

each other are:

(A} aldehydes and ketones

{B} alcohols and aldehydes

(C) aldehyde and carboxylic acid

(D) aleohols and ketones

Which of the following non-metals exists in liquid

state at room temperature?

(&) Mercury

(B} Bromine

(C) lodine

{D) Carbon

One of the following molecular formulae represents

a ketone. This formulae is

(A) CsHi20

(B} CaH1x0z

(C) CeH1O

(D) CeH120

The salt whose agqueous solution will turn blue litmus

to red is:

(&) sodium chloride

(B) sodium acetate

{C) ammonium sulphate

(D) potassium carbonate

The term pH comes from

{A) pure hydrogen content

(B} ‘pure voir hydrogens' which implies potential of
hydrogen

{C) purity of hydrogen lon in solution

(D) name of the scientist associated

Page 12 of 24
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92,

93.

94.

e

96.

Fage 13 of 24

An element X reacts with hydrogen to form hydride
HzX, having rotten egg smell. The element X is

(A} oxygen

{B) sulphur

{C) chlorina

(D) nitrogen

In Mendeleev's periodic table, gaps were left for the
elements to be discovered later an, An element
which found a vacant place in the pericdic table later
an is:

(A) Be

(B) Si

(C) Ge

(D) Se

The maolecular formulae of an organic compound is
C4sHg4. This compound belongs to the homologous
series of

(A} Alkane

(B} Alkene

(C) Alkyne

(0} Aromatic hydrocarbaon

The third member of the homalogous series of
alkyne is

(A) propyne

(B) butyne

(C) pentyne

(D) hexyne

A colourless lead salt, when heated produces a
yellow residue and brown fumes. The lead salt is
(A) lead iodide

(B} lead nitrate

() lead sulphide

(D) lead sulphate

gr.

a8,

84,

100.

101,

The electrons present in the valence shell of noble

gas can be '

(A) 2 anly

(E} 8 anly

{C) 2 and 8 only

(Dy8or7

Which of the following metals is a liguid?

(A} Sulphur

(B} Mercury

{C) Potassium

(D} Sadium

An organic compound which is main constituents of

wine and beer on oxidation with alkaline potassium

permanganate forms another compound X. The

compound X is

{A) ethanal

(B acetic acid

(C) acetone

(D) formic acid

The chemical reaction between two substances is

characterized by a change in colour from crange to

green. These two substances are most likely to be:

(A) potassium permanganate solution and lime juice

(E) potassium permanganate solution and sulphur
dioxide

{C) potassium dichromate solution and sulphur
dicxide

(D) potassium dichromate selution and carbon
dioxide

When hydrogen burns in oxygen, water is formed

and when water is electrolyzed, then hydrogen and

oxygen are produced. What type of reaction are

taking place respectively?

(A) Decomposition and combination reaction

(B) Combination and decomposition reaction

(C) Redox reaction and double decompasition

(D) Double decomposition and redox reaction
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102.

103.

104.

10%.

An elemant which is an essential constituent of all
arganic campounds belongs to which of the
following groups of the madern periodic table?
iA) Group 2

(B) Group 13

{C) Group 14

(D) Group 17

It has been found that rubbing vinegar on the stung
area of the skin of a person gives him relief. The
parsan has been stung by:

{4 wasp

(B} ant

() honay bee

(D) scorpio

An arganic acid X is a liquid which often freezes

during winter time in cold countries having molecular

farmulae CaH:Oz On warming it with methanecl in the

presence of a few drops of concentrated sulphuric
acid, sweet smelling compound is formed. The
sweet smelling compound is

{A) methyl ethanoate

(B} ethyl acetate

() ethyl methanoate

(D) acetic acid

The two metals which are extracted by means of
alectralytic reduction of their salts are

(A} Mg and hMn

(B) Mg and Al

[y Mg and Zn

{0} Fe and Al

1086,

107.

108.

109.

110.
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A person found that the cake prepared by him is
hard and small in size, Which ingredient has he
forgotten to add that would have caused the cake to
rise and become light?

(A) Baking soda

{B) Baking powder

(C) Gypsum

() Bleaching powder

Which of the fallowing set of elements is written
correctly in the order of their increasing metallic
character?

(A} CON

(B) Mg, Al, Si

(C) Be, Mg, Ca

{0} MNa, Li, K

The number of carbon atoms joined in a spherical
malecule of buckminsterfullerens is

(A) fifty

(B) sixty

{C} sevenly

(D) ninety

Awhite pracipitate can be obtained by adding dilute
sulphuric acid fo

{A) CuS04 solution

(B} Maz50: solution

(C) NaCl solution

(D) BaClz solution

A strip of metal X is dipped in a blue coloured
solution Y504, Metal X is used in galvanization
whereas metal Y is used in making electrical wires.
The metal X and ¥ are respectively

A) Cuand Zn

(B) Zn and Cu

(C} Al and Cu

(D) Cu and Al
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111.

B b

113,

114.

116.

Section 4 - Mathematics

Two dice are thrown simultanecusly. What is the
probability of getting two numbers whose product is
even?

(A) 34

(B) 1/4

{C) 7i4

(D} 1/2

The value of cosx + 11 + col®x) is

(A} O

(8)-1

(C)1

(b2

If sinB = 3/5, then the value of {tan & + sec B)2is
(A) 1

(B) 2

(C}3

(D) 4

ABC is an isosceles triangle with AB = AC, Draw
AP L BC. Then

(A) 2B = £C

{B) £B + 2C =890°

(C} AP =BP

(DY BP =PC

How many times does the graph of v = 2% - 2x + 3
intersect the x-axis?

(A} Nane

(B) One

{C) Two

{0} Three

The L.C.M of two numbers is 24 and their H.C.F is 2.
If one of the numbers is 6, find the other number.
{A) 8

B} 5

(C)7

o) 4
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1E:

118,

120.

MABC ~ APQR, M is the mid-point of BC and M is
the mid-point of QR If the area of

AABC = 100 sq. cm, the area of APQR = 144 sq. em
and AM = 4 cm, then PN is:

(&) 4.8 cm

(B) 12 cm

(Ch 4 em

(D) 5.6 cm

If the area of rectangular manga grove is 800 m* and
its length is twice its breadth, then its length is

(A) 40'm

(B) 30 m

(Cy20m

(D) 50 m

. A part of the monthly hostel charges in a college are

fixed and the remaining depends an the number of
days one has taken food in the mess. When a
student X takes food for 25 days, he has to pay

Rs. 1750 as hostel charges, whereas a student Y.
whe lakes food for 28 days, pays Bs. 1900 as hostel
charges. The fixed charges and the cost of food per
day is

(A) Rs. 500, Rs. 50

(B) Rs. 600, Rs. 80

(C) Rs. 600, Rs. 50

(D) Rs. 500, Rs. 80

What is the solution set of the guadratic equalion

B2+ 2%+ 1=0%

() {_ A
274
(B) {—l + "-.-":7_;,—! - *'..E}

ey —Tal =1=af7
Bz © B

(D no real solution
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121, 66 cubic centimetres of silver is drawn into a wire 125. Four steps to derive the quadratic formula are
1 mm in diameter. The length of the wire in meters shown below, What is the correct order far these
will be: steps?
(A) 76 m ak g B =k
(B) 80 m I sl

« 2 2
{CJ 84 m | b\{ b —4dac

‘ & T
(D) 88 m I, - la:»} 4a
122, A linear equation in two variables is of the farm

ot pidac b
(A ax=h Il 4a’ la

I+

{(Biby + c=x xgﬁ_E_l_:fi\'Ez_l:E_}_fi“::
{Clax+by+c=0 I a \la' a “\2a
(Dix=y (AL VL
123, If the 5% and 9 terms of an AP be respectively 14 (B) I, 1, v, I
and 26, then the sum of its 20 terms is (CY I, 1L
(A) 810 (D) I, 0, 1, 1V
{B) 580 126. A box contains 20 electric bulbs, out of which 4 are
\C) 620 defective. Two bulbs are chosen at random from this -
(D) 600 box. The probability that at least one of these is
124. Father's age is three times the sum of ages of his defective is
twa children. After five years his age will be twice the (A) 719
sum of ages of his two children. The age of the {B) 612
father is {C) 519
{A) 42 years (D) 4/19
(B} 45 years 127. The co-ordinates of two points are (6, 0) and (0, -8).
() 50 years The co-ordinates of the mid-point are
(D} 48 years (A) (3. 4)
(B) {3, -4}
(C) {0, 0
(D} (-4, 3)
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128. The graph of the equation y = x2 - 3x - 4 is shown

below, For what value or values of x is y = 07

R .; HHH
HH \ H
R B I
14 0 T}
| S | B
""""" ABR8dRanF AAARELSmRnERER]
Sy
AN
1
[(A) % =-1 only
(B] x = -4 only

(Cix=-1andx=4
Dix=1and=x=-4
128. If tanA = tanB, then A+ B is
(&) 80°
(B) 30°
(C) 45°
(D) 180"
130, In a right angle isosceles triangle, right angled at B,
find £A
A} 40°
(B) 50°
(C)45°
(DY 35°
131. The graph of the equation y = x* + 2x + 3 intersects
the x-axis at how many paints?
(A 0
(B) 1
(C)2
()3

132. P is a point on x axis at a distance of 3 unit from

133:

134,

135.

136.

137,

¥ axis to its left, The co-ordinates of P are

(A) (3. 0)

(8310, 3)

(Ch(-3.0)

(D} (0, -3)

The points (-4, 0), (4, 0) and (0, 3) are the verices aof
a.

{A) right triangle

(B} isosceles triangle

(C} equilateral triangle

{0} scalens triangle

If ot, B be the zeroes of the polynomial x? - Sx + 6,
then the value of o + B is

{A) 30

{B) 35

(C} 38

(O} 40 _

If AABC = ADEF and if AB = 3.5 = DE and

BC = EF = 5.5, then necessary condition is

(A) LA = 4D

{B) sB= £

€328 =4

(D) CA = FD

A tree is broken at a height of 10 m above the
ground. The broken part touches the groeund and
makes an angle of 30° with the horizantal. The
height of the tree is

(A 30 m

{B) 20 m

{(C)10m i
(D) 15 m

The distance of point P {3, -2) from y-axis is
{A) 3 units

{B} 2 units

(C} -2 units

{0} 13 units
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138. The areas of two similar triangles ABC and PQR are
25 em? and 49 cm? respectively. If QR = 9.8 cm,
then BC is;

{A) 9.8 cm

(B} 7 cm

{C) 49 cm

(D) 25 cm

139, Ifa+b+c =0, then the quadratic equation
Jax2 + 2bx + ¢ = 0 has

(&) at least one rootin [0, 1]

(Blonerootin[ 2, 3]and the otherin[-2,-1]
(C) imaginary roots

(D) none of these

140, The value of p for which the pair of equaticns
Jmey=tland (2p-1Nx+({p-1w=2p+ 1 hasno
solution is

(A p=1

(Blp=0

(C)p=3

(D)p=2

The value of 5inB0°. Cos30° + sin30°. CosB0°
(A1

(B) 2

(C) 4

(D) 3

AABC ~ APQR. If ar{ABC) = 2.25 m2,

ar(PQR) = 6.25 m?, PQ = 0.5 m, then the length of
AB is:

{A) 30 cm

{B)0.5m

(C} 50 m

{0} 3 m

141.

146.

142.

147.
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143,

144,

145.

A construction worker drops a tool from the top of a
building that is 200 fi high. The height of the toal
above ground can be modeled by h = -1612 + 200,
where h is the height in feet and t is the time in
seconds. How long will it take for the tool to hit the
ground?

[A) 585

(B} 3.585

(C)4.2s

Oy 0.1

A vertical stick 30 m long casts a shadow 15 m long
an the ground. At the same time, a tower casts a
shadow 75 m long on the ground, The height of the
tower is

(A) 150 m

{B) 100 m

{Cr2sm

(D) 200 m

If the ratic of the carresponding sides of two similar
triangles is 2 : 3, then the ratio of their cormresponding
aftitude is:

A3z

(B} 16 : 81

(C14:9

(Dy2:3

Which of the following CANNOT be the sides of a
right triangle?

(A) 9 cm, 15cm, 12cm

(B} 2 cm, 1 cm, 5 cm

(C) 400 rom, 300 mm, 500 mm

(DY 9 e, 5em, T cm

o

The value of cotx - 1/sinx is
(A) 2 .
(B) -2
(C)1
(L) -1
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148,

149,

150.

1571,

152,

The parimeter of triangle formed by the points (0, 0},
(2, 0) and (0, 2} is

{A) 4 units

{B) 6 units

(C) 6 2 units

(D} 4 ~2 urits

The first term, common difference and last term of
an AP are 12, 6 and 252 respectively. The sum of
all tarms of this AP is

{A) 5408

{B) 5412

(C) 5402

(D) 5416

A man rowing at the rate of 5 kmdhr in still water
takes thrice as much time in going 40 km up the
river as in going 40 km down. The rate at which the
river flows is

{A) 3 km/hr

{B) 2.5 km/hr

{C) 2 km/hr

(D) 4 km/hr

An observer 1.5 m tall is 20.5 metres away from a
tower 22 m high. The angle of elevation of the top of
the tower fram the eye of the observer is

[A) 30°

(B) 45°

{C) 80"

(D) a0”

AABC is such that AB = 3 em, BC = 2 em and

CA =25 cm. If ADEF — AABC and EF = 4 cm, then
penmeter of ADEF is:

(&) 15 cm

(B) 22.5 cm

(CY 7.5 cm

(D) 30 cm
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153

154.

155.

156.

157,

If the zeroes of x3 - 9x2 + 23x - 15 are a - B and

o + [, then

(Aa=sR=5

Bla=2,F=6

(Cla=3,B=5

(Ma=2 =4

The HCF of 38220 and 186, using Euclid's Division
Algorithm is,

(A) 190

(B) 125

(C) 196

(D) 198

The radii of the ends of a frusturm of a cone 40 cm
high are 38 cm and & cm. The slant height of the
frustum of cone is

(A} 50 cm

(B) 1047 cm

(C) 60.96 cm

(D) 442 em

The surface area of a sphera is same as the curved
surface area of a right circular cylinder whose height
and diameter are 12 cm each. The radius of the
sphere is:

{A) 4 cm

(B) 6.cm

(C)18em

(D) 10 cm

If the centroid of the triangle formed by (9, a), (b, -4)
and (7, 8} is (6, 8), then (a, b} is

(A) (4. 5)

(B) (5. 4)

(C) {5, 2)

(D13, 2)
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158,

159,

160.

161,

162.

A circular well with a diameter of 2 meters is dug to
a depth of 14 meters. What is the volume of the
earth dug out?

{A) 40 m?

(B) 42 m?

{C) 44 m?

(D) 46 m?

If AB = OR, BC = PR and CA = PQ, then

(&) AABC = A POR

(B) A CBA = A PRQ

(C) A BAC = A RPQ

(D) A PQR = A BCA

The radii of two cones are in ratio 2:1, their volumes
are equal. Find the ratio of their heights.

(A) 1:4

(B) 1:3

(C) 1:2

(D) 1:5

& hemisphere and a cone have equal bases. If their
heights are also equal, then the rafio of their curved
surface will be:

(A) 2:1

(B) 12

{C) V21

(D) +3:1

What is the greatest number with six digits, exactly
divisible by 24, 15 and 367

(A) 999990

(B) 999720

(C) 999780

(D) 289792
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163.

164,

165.

166.

167,

The auto-rickshaw charges in a city comprises a
fixed charge together with the charge for the
distance covered. For a journey of 13 km, the
charge paid is Rs. 96 and for the journey of 18 km,
the charge paid is Rs. 131. The amount a persan
has to pay for travelling a distance of 25 km is
(A} Rs. 190

(B) Rs. 200

(C)Rs. 170

(D) Rs. 180

In the equation given below, the guadratic equation
5

(Al xt-3x+ 2=0

(B)242-3x-5=0

{(Cyx+ 5k =x2

(D) x2-6x+5

If the distance between (4, 0) and (0, x) is 5 units,
the value of x will be

(A) 2

(B)3

(C) 4

)5

How many cubes of 10 cm edge can be putin a
cubical box of 1 m edge?

iA) 10000 cubes

(B) 1000 cubes

() 100 cubes

(D) 50 cubes

In a box, there ara 8 rad, 7 blug and 6 green halls.
One ball is picked up randomly. What is the
prabability that it is neither blue nor green?

(A) 2i3

{B) &8/21

(C) 3/7

(D) /22
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168. The ratio of the length of a tree and its shadow is

169,

170,

171

172,

173.

1 : 1443, The angle of elevation of the sun is
(A} 307
(B) 45°
(C) 80"
(D) a0°

The sum of the zeroes of the polynomial 6x2 - 5 - 5x

is 175.

(A) 2/3

(B) 5/6

{C) 34

(D} 7/6

The value of 2 sin®30° - 3 cos?45" + tan?60" is
(A5

(B) 3

(C} 1

(D) 2

D and E are respectively the points on the sides AB
and AC of a triangle ABC such that AD = 2 em,

BD =4 ¢m, BC =9 cm and DE || BC. Then, length of
DE (in cm) is:

(A) 6

(B} 5

(C}3

(D) 2.5

The cost of the paint is Bs. 36.50 per kg. If 1 kg of
paint covers 16 square feet, how much will it cost to
paint outside of a cube having & feet each side?
{A) Rs. 850

{B) Rs. 860

(C) Rs. 876

(D) Rs. 886

Value of cos? B(1 + tan® ) is equal to

(A) 2

(8) -1

(C)1

(D)3
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174.

178,

177.

178.

A boat having a length 3 m and breadth 2 m is
floating on a lake. The boat sinks by 1 cm when a
man gets inta it. The mass of the man is:

(&) 50 kg

(B) 60 kg

(C) 70 kg

(D) BO kg

The tops of two poles of height 10 m and 18 m are
connected with wire. If wire makes an angle of 30°
with herizantal, then length of wire is

{A) 10 m

(B) 18 m

{C)12m

(D16 m

If 3x% - 5x - 2 is divided by 3x + 1, then the quotient
is

(M) % -2

(B)x+2

[Erx+3

(D) x-3

If 8 is a positive acute angle such that

sec 8 = cosecB0?, then the value of 2cos® 8 - 1 is
(A) ¥

(B) 34

{C) X4

(D)2

The slant height of a conical mountain is 2.5 km and
the area of its base is 1.54 km sguare. The height of
mountain is:

{A) 2.3 km

(B) 2.4 km

(C) 2.5 km

(D) 2.6 km
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172,

180.

The value of tan 48°, tan 23°. tan 42°_tan 67" is
(A) 1

(B)2

(C)3

(D) 4

From a pack of 52 cards, two cards are drawn
together, what is the probability that both the cards
are kings?

(A) 2121

(B 21221

{C)y 17221

(D) 1/13

Space for Rough Work:
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